

$$s = \frac{Q}{2\pi T} K_0\left(\frac{r}{B}\right)$$

$$s = \frac{Q}{4\pi T} \ln(t) + \frac{Q}{4\pi T} \ln\left(\frac{2,25T}{r^2 S}\right)$$

$$H_0^2 - H^2 = \frac{Q}{\pi k} \ln\left(\frac{R}{r}\right)$$

$$s = \frac{Q}{2\pi T} \ln\left(\frac{1.123B}{r}\right)$$

$$s = \frac{Q}{2\pi T_0} \ln\left(\frac{R}{r}\right)$$

$$s - \frac{s^2}{2H_0} = s_c$$

$$H_0^2 - H^2 = \frac{Q}{2\pi k} \ln\left(\frac{2.25kH_0 t}{r^2 S}\right)$$

$$B = \sqrt{\frac{T}{k'/b'}}$$

$$s = \frac{Q}{4\pi T} W\left(u, \frac{r}{D}\right)$$